Findings
	The research question I chose to evaluate was “will younger guardians attain less education than older guardians?” The sample population was guardians of children enrolled in head start. Because of these parameters, I knew the respondents were responsible for at least one child, that child’s age ranging from three to five years of age. The dependent variable was the level of education attained, this was asked in question 44, “What is the highest level of education anyone in your household has completed?” The independent variable was the respondent’s age, this was asked in question 33, “what is your age?” both of these questions are categorical, with multiple choice answers to choose from. The three inferential statistical models chosen to answer the question were a Chi-Squared Test, a Pearson’s Correlation Test, and a Regression. The second field I was examining was the ways recoding variables can manipulate or change outcomes. For the Chi-Squared Test both variables were recoded into two groups, for the Pearson’s Correlation both variables were continuous, and for the Regression the independent variable and the dependent variable remained the same. 
	Table 1 is a Chi-Square Test of the effects of age of guardianship on education attainment. Both the independent variable and the dependent variable were recoded for the test. The independent variable, the respondents’ ages were originally “Less than 20, 21-25, 26-30, 31-35, 36-40, 41 or more.” These responses were recoded into two groups, 30 or less “younger”, and 31 or more “older.” The dependent variable, the respondents’ education attainments were originally “Less than high school, Some high school, High school degree or equivalent, Some college or associate’s degree, College degree, Master’s degree or more, Prefer not to answer.” For the sake of data, the answer “Prefer not to answer” was removed. These responses were recoded into two groups, High school degree or less “lower” and Associate’s degree or more “higher.” Table 1 shows the relationship of the means of both groups, age and education.

Table 1
Two Way Chi-Squared Test of the Respondent’s Educational Attainment Based on Their Age
Cells 			Observed	  Expected	   Chi-Squared	         Degree of Freedom
Young/Lower		      7                     6.5                       0.14                              1
Young/Higher                  16                   16.5                                                  
Old/Lower                         4                     4.5
Old/Higher                       12                   11.5
Note: The answer “prefer not to answer” for the question, “what is the highest level of educational attainment anyone in your household has completed?” was omitted
	
	The calculated chi-squared in the table above is less than the critical at the 0.05 level making the difference between the means of the two groups insignificant. While the data show that the older respondents’ observed outcome for higher education was greater than the expected, and the younger respondents’ observed outcome for higher education was lower than expected, the difference is not large enough to be considered significant, therefore no conclusions can be drawn from the outcome. 
	The next method used to answer the research question was the Pearson’s Correlation Test of the independent variable, age, on the dependent variable, education attainment. The variables were not for this assessment. A Pearson’s Correlation was chosen to see the correlation between the two variables. A weak positive correlation (r=0.095) was found between the respondents’ ages and their educational attainments. So, the older the respondent was, the more education they have achieved, however this correlation is too weak to draw any real conclusions. 
	The third and final method of evaluating the relationship between the variables was by Regression. The regression attempted to find the relationship of the independent variable, age, on the dependent variable, educational attainment. The relationship was positive at 0.1187. This means that the education attained increased by 0.1187 units for every age category that is increased. However, the finding is not significant (p=0.5611). The R-Squared statistic is 0.008968, meaning the model explains 0.8% of the variation between the dependent variable (education).
Conclusion
In conclusion, there is no significant difference between the two variables in any of the tests conducted, regardless of recoding variables. The Chi-Squared, Pearson’s Correlation, and Regression conducted all resulted in insignificant findings between the independent variable, the respondents’ ages, and the dependent variable, the respondents’ educational attainments. The weak correlation between the two could strengthen if the sample size was larger, however with the sample used the correlation could not draw any relationship between age of guardianship and the education attained by said guardians. Although there is a slight positive correlation between age and educational attainment, it is not enough to have any definitive conclusions. 
Future research should ask for respondent’s age on a range of 0-100 and the educational attainment on a range of years in school from 0-18 or 20. This way the data is more precise and more tests can be ran, utilizing tests that evaluate continuous variables. 
